Tema ypoka:
,, F[ipeoébpa3oBaHue
sio2apumMmuyecKux
BbIpaXxeHuu”.
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log,1 = 0;
log,a=1:
log, F, =-1,
I

loga = i
log,a™ = m;
log, am = il

ga k 2

log,bc = log b + log,c:

log, % = log,b - log,cC:
log, b = —L— log b:
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11.

12.

13.
14.

15.

log,b™ = m logb;

log,b™ = %’ log.b:
log.b

log,b = log. a

log, b = ' :
log, a

log,b -log.d=
= log.b *log,d
q'egb = plog.a
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1) log,6 + log,» (10 —) = log, 6 + log,— =log,—=log,64 = 6
3 3 3
1 -3
2) logzo’125 =Yog:{05) *=1og: (5) =logy 2" =3
. o A1 1
3) 1g0,13/100 = 1g(1071- 105 ) =1g1075 = —Z1g10 = —
logs 27 3
4) 1 27 = = —
) logs logs9 2

910g34 s 3210g34 = 3]0g342 - 42 ___16
log,7 log,5 -log.4 =

Mﬁb] g3.3,—10g34
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JoMallHee 3aaaHune

Haiinure snavente Bhipaxenua 32H0%:95,

Haizute 3HaueHue BeipaxeHHa log, log, 256.
logyo 13

logw Zfl—g |

Haiiaute 3HaueHHe Bbipaxenns 4'°82°,

_ 10g2 o7
Haiiure 3HaueHue BolpaXeHus :

10g8 D7

Hafiure 3HayeHue Bbipaxesus log5-0,5 + logs 50

Hafiute 3HayeHue BbIpaXKEHHA




